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Code No.
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Roll No. Candidates must write the Code on
the title page of the answer-book.

o FRIITWAPWIA-HHAARATS 12 ¥ |
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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 16 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 am., the students will read the
question paper only and will not write any answer on the answer-book during this period.

TR, (hivsrem)

SANSKRIT (Core)
T BRI Qg ;100
e a7 : 3 52 ST 3F: 100
Time allowed : 3 hours Moaximum Marks : 100
o -
GGHATHIE G TR, Gei-a AGNanT |

STET W b el &, FeT I Gehd A &1 ;T |

Answer the questions in Sanskrit only unless stated otherwise.
SIRTT Fo97 9@ GUST: TiT |

59 Jv-07 H AR @I E |

There are four sections in this question paper.
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SECTION A : (Unseen Reading Comprehension)
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AT 11 — HHEH: SShauecuRad:
(| S&hd Wiecd Uiem) 10 S

PART II — General Introduction to Sanskrit Literature

GUe: % (SECTION A) 10 JET:
HUFSATI — TSI
Fufsaie — Aaarea=
Unseen Reading Comprehension
frferfiae T ® uge for T WAt 3 IR S | i
Read the following passage and answer the given questions in Sanskrit :
TN
FrfafereTel SepadTiacd gt T2t Tfa-JTHgl wa: | Tl &: — THRY HeTRd = | 3T
Hef¥acemafrid TeMrd TeeUieH STt | Uad T Tg Sepadtied, 3ifig foea
aifecasty yg@ woe fawfd | aevmas T Susferrey R | Susfierren: o wafw,
AR HUT AN ITTT: Ho: I ATeehl- e = fo=af | wewrha: wifcere:
TEWRAE  Ipaaurer fovafigw  SImmgaas  qaeee e |
HETeh{oHT VTR WETTATd e 3TTeR ¥ et ferfarart |
T AEMRd YJEEYY hRAUUSTAHES T g "1 afviarted,
TAegATSIINN hid: Afceufa Iq =g forafy a5g o =g U= a1, 3t=aa: 9dig
FRERIAR IH $o1 91 e T | 370 T Jeeamd: T8 Sl 98 3T9Rh T il
THEFT ST THAFET SO0 372: SHvid g3 uTg I |
bR E
(30) THTRARRA Ysx 4=2
TH I O ST /1T
Answer in one word.
() TEWHAS oRgeh: o: AT ?
(ii) Wﬂﬁﬂ@mg@mﬂgﬂﬂ%?
iii) TEEhieHT HETHIAHTY T Areshti ferferanfa 2
Eiv)) e TUHT <Y 77 fohara 7
2 ci



@ ORI 1x2=2
Ul AT H I AT
Answer in a complete sentence.
() UEWRA HUEATSH Hia: fob afewifa 2
(i) HITGH: IMG=ATIHE YAhATTh H: TEIdaT ?
() ISR : 1x4=4
Frcemgar s i
Answer as directed.
() ‘EEprETecy o fort fopr ?
(i) g ekt ferferat 3 forames sue ey ?
(i) “OTeT g o AT UeHA SR 7
(iv) ‘Ir=mEteay s faemug ey 7
@) I FTHTH Fd IJUGHKI Ve e forad | 2
T ST foTT IHgeRT ¥tk et # feAfae |

Write a suitable title for this passage in Sanskrit.

@ue: @ (SECTION B) 15 S
A TS HEH
HEHA TS B

Sanskrit Writing Skills

9o Afehar: | vl sEE fagefd: agfbar adif o fogeaem sfafafaa =
TeherTT AeuTIETeTes: TR STX-gfeehran v IA: forad Yx10=5
3T Afeehar & | 31 o e ¥ faereft 6 emyfd i TE 7 | 59 foww d fom o
TN ¥ feu 7w wreq) & Treh T 1 gfd T v ol STR-gfwwent  g: fafau

You are Nachiketa. There is no proper supply of electricity in your hostel. In this regard

in an application fill in the blanks with the words given in the box & rewrite the same in
the answer-book.
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MeEiSETEEd:
(@)
EEIS IR e
FToTEt
fors=r: — wgfart (i)
HHT: |
gfe T (iii) Iq FTEH (iv) T ST
V) TRRId | 37ac femf el (vi) | ST Tl 31ea
(vii) wg faeffea | T = foga: omyfd: srfa (viii) Tad, AT
IR (ix) i wafd | o Ueerel forga: 3Tgfd: HwBsehRul
x) IS g™ 9 |
3l @Tey ey,
TaG:
Afeehar: |
(3T, SATNT)
HSHT
ehde, Ve, srerr, faeenfd: s, P,
T, anfehl, TR, Sdd |
3. TUNETNISRMEI HERAA  JHiaiedEdl AgwdEl e e | g
foraa %Bx10=5
Tt | fRT T veRt @ weer @ Ftataa o o e @ @ gfa R owen o
EH:%I‘F@Q’:

Fill in the blanks of the following short story with the help of the words given in the box
below and rewrite the same.

ST
whel g (1) IS T (i) T eI saad: (iii) W, W
(v) lél_g': v) A | da g fafR Iq °h: IUMI: HaeT:, AT
vi) ORI | dedd (viD)  JAtgaddd g€ AR (vii)
Tt fa8d (ix) T qe: Uk ure) fereea =eq, afe Ao wfesafa | s
T Had, T@: (%) T eI 19 |

HeSTH

I, TTeAd:, ST, Yoa: |
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4.
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A=UET USOUSHT HERId USEii: §ehdarR: A9 YRAY g faveafieer 9o
Fed : 1x5=5
Hoo[T | ¥ 71T ug} = et | uts Heehd SreRIl H HH RAH T FUH HITT ;

With the help of the words given in the box describe #H WRdH in five sentences in
Sanskrit.

T

IR EEp g, e a1, wdanTan:, faftrEn: waa:, wa-gefe-sfasm,
3wy, uera:, fearestiean:, aer:, Tggaed, ey, afuforn, deeemf |

@ue: T (SECTION C) 30 ST

ATATHFIATHIUH
HIAGRT AR
Applied Grammar

ARG YEITSshaua T Wrewss $od 1x6=6
TrfetEe et o Y@ifsh Tal I Grefaesg iy :
Disjoin Sandhis in the underlined words of the following sentences :
() Teremmn fa: S STty garesT |
(i) <faca: 31ty a9 faatsa: |
(iii) b “Tecravee= fafdmise: ?
(iv) g TR |
(v) TSI |
(vi) WY |
(vil) T |

FfeTETeTeRY (@S RIIsH el TRa=1aT: 1x6=6
TrfetiEa el § 3@ited THE Ui & fove fefan

Expound the underlined words of the following sentences.

() ITsREl=T A STrHeRT: |

(i) Tedm= = SR @ fohwy: |

(i) | AU JufeTf=y |

(iv) Wi Ppad gaeme; |

) W%W&ﬁ: |

(vi) 3T STERE Sl |
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7. STEREAATRY HISHHT - FH Tl o FieTeel e & 1x8=8
frfafea arert # Site® & ST St T8 WD & 9 Mg weom it Stiga] o wm
! gl i :

Fill in the blanks in the following sentences by adding suffixes to the roots and words
given in the brackets :

() 3T 'E: 7 I (AT + 39+ ) |

() _ (T + ) F=red |

(i) 3= (T + 3T + T + Fel) ToHeT it |

(iv) SRS (I + ) T T\ |

(v) JTUETR & e | (R 4+ ) |

(vi) %eH afvram AT | (VT + 3%)

(vii) TY JehTeN: HITad: | (wfemrar + 36)

(viii) TR ST | (U1 + 3TRR)

8.  ITEfciiEaaTsRy Hyisharasdr: dAfafd: fsaany : 1x5=5
frferfiae st 7 st wel fopamast bt srferer ifa :
Write the suitable verbs according to the subject in the following sentences :
(i)  STeHT Y STET: /ST |
(i) 3718 Sl J&TTH/Feamm: |
(i) & iR va/ v |
(iv) Torm waeedy 3rees e fe/ 3t ¢
(v) = foge sgufasy: sam/3 ;|
gar/OR
TeifetEay ARy foers: T weequm: fastorasitT g
frferfad st # wosmr & favisr & SR fowtwor Sifsw

Write the appropriate adjectives from the box with their qualifying nouns in the following

sentences :

() g&EEm g
G) o g e |
(i)  Hcem gfaedfd |

(iv) = gtrefir: SHurt: fm=: |
v) 1?;('1{:1'5?[ JTeTreh ferawfe |
ST
e, sy, fafsren, ==, srfer )
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0. ITHAETaTRIY HISHIS: WE SUTFIHIRT Uged Reraeemi1 g : 1x5=5
Tt amedl # ®ie® ¥ {U M0 i § SUERT fawieRT o1 Wit Y et @& & qid
T

Fill in the blanks using appropriate case-endings with the words given in the brackets in
the following sentences :

() 38 (YEd) g9 I5 o TSI |
(i) 3T Had: (F=m) |

(i) (i) fomm ahetar 7 @i |

(iv) TRy (TH) e |

(v)  (wed) I wfciel dehdoad |

gue: ¥ (SECTION D) 35 ATaT:
T -1
PART -1
gfeeieT — SEaE
afadisr — srEate

Reading Comprehension

10.  STefeTRac Terst, e, e o ufeT TRTENar W SehaRd
TrTotiae TTerTeT, Ter T AT St UghT S UX SR U9 9 I G&he H JIT

Read the following prose, verse and drama passages and answer the questions based on
them in Sanskrit :

() TTEST:
ST TAR ST, Jegead e, Teifarsagafd = aee: fqedf o |
Y Heltad d TR AT TSSE: ARSI Ihy — 378l | Jgaclisd Bg:,
HA 7 TN NG | 37T g SERI: ST | d: TId 3T ST 3hd
fe=:
L EEIF
(30) TEHTRAR | vx2=1
T ¥ | I |
Answer in one word.
(i) ST hid Hoe: Yfqaafa & ?
(i) Aeshfe: 76 gar wvTd smmeE femmaf= ¢
22 7 ci



@) YoiETERHRR | 1
IOt T B ST I |
Answer in a complete sentence.

HEIeHE T I forgd |
@) ISR |
TGRITTER 3T ST |

Answer as directed.

() ‘T’ 3fa e yew foamivu ¢ Y

(i) ‘eFysRE:’ s foh UeH 3T IRy 7 Y
@ () ‘wideEf< sid braes fo sueq, ? 1

(i) gearhr:’ st vee T foemimuen srg=8e yg=hy ? 1

R

3tasa, smra, gt s e |
T T (R gt |
IRRISEEERIEHEET
e
(3N  THTRARRE | Yx2=1

T I § IR T |

Answer in one word.

() o qq Y gl e ?

(i) < T feera ?

(@) oA | 1
ot e B SR I |
Answer in a complete sentence.
T g <higeft wafd ?
@) ISR |
IRERUGRIRSST e el
Answer as directed.
() ‘gd TR s R ueHA YW ? Y
(i) ‘=ef~r sfa framrew f wquen ? Y
(@) () gt 3fa e fob ver wgy 7 1
(i) ‘oRaT s o foretmuems wRy 7 1
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T - (vfoma) I | i | o ) fesea @ sty |
WU — 3T | fopH ST1ET T8 712 IS ST ?
T - 3l g TE Sy augaTes Han 3T |
WU — R S, T AT ST gt e |
3! opy Taceay 3 MRS 2
T - Ty, 7 fE, st
AR —  (FUYH) 31T 3R | Ta d TR SEdn] | 378 Jeidig gURI TiddISTe |

(3N THIRARRT | Vix2=1
T 715 H ST ST |
Answer in one word.
(i) G WISAde: %3 e ?
(i) SR fow & geafd ?

(@) YUiETERARA | 1
ot aTRT | 3T KT |
Answer in a complete sentence.
g wTaeTET foRy fohy arfe 2
() TAMTRIRRRE |
frdeman 3w i
Answer as directed.
() ‘orfar sfa framaesr sue o 7 Y
(i) ‘e 3 Tee Ty fRy v
(@ () ‘I 3foues % foeuens ygg ? 1
(i) R 3 v fob watauems w7 1
. IR TREA SR | 2x2=4
ﬁ%snaaﬂaq‘ruﬁa%wﬁﬁﬁ

Answer both the questions as directed.
() T S ST 3 TS TR % |
() 1 FrsreE wyf: steE TRt sfa : @ sfawuafa ¢

T, S V- AT, Y5 e o o 2x2=4
Wm%mﬁqn@?ﬂwwﬁﬁ@ﬂawwwww

Pick out and write the correct one out of the three explanations given for each of the
following lines :

(30) T T YAt
wrane:
() HE FeIE ST Ui |
(i) F: T aefa 9 Ig: wafd |
(i) afe IS Tearee S,
qer = T AT ufers wafd |
9 cn
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@) FEHS S, T |

et

(i) He Hed 3T |

(i) HHE T TS S: Wad, FFT A |

(iif) - Trere] ST el |

qgar/ OR

TR Te HeTd Hes[NmeTs: R 4 foea 1x4=4
frmfefaa wer 3 wremd =t oo 7 KT e w=t ¥ qof = O fefew

Complete the central idea of the given verse with the words given in the box and rewrite

the same.
Ut vifireesh STereIgell =1 T | }
T Tl 18 Ao e ||
‘HﬁTé‘:
TSHMI Ry AR $d (1) IEE R G)  , 9gEmEn (i) 3f
AT eIy (iv) T yafd | o gaer Afafr-achrr deaw: waf=y |

HeoaT
JYTE:, T, ST, ThI: |

FNTARTTR AT GIT ST WIIIA: T Femea iy e sr=a 7: fer@a | 1 x 8 =4
e Q1 YeTien! % STl H HeIT o Wal | Tieh TH1 <hl qfd ot 31 1 g e :

The prose order renderings of the following two verses have been given below. Fill in
the blanks from the words given in the box and rewrite the same.

(3) W= -
SIS YReTeHTeh] AfG Ward SHioe: |
T SfAvTITRS |ferel Teugd WG || }
qaTaq; —
_ e omegwe () wwer () Weq @R ()
g AT (4)_ (waifa) |
() W= -
a@aﬁﬁ%ﬁmﬁm‘g’mﬁl}
FEAY <A qal A faeed 11
I —

T g YA AN T () 0 Feay 9 (3)  qd: |
@_
Hq T

SfeuTaTRS, EEYT, WG |

10 cn




14. IifAfEaHl ‘B — W AN W — WA SRt e S ol

15.
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T g foraa

1x4=4

frfafiaa ‘@ T & ST ol & TR % SIeRiel & WY Higeh e o e bl

Eﬁ:%ﬁ'\@lz

Match the following sentences of the column ‘@ with the suitable sentences of column

‘|’ and rewrite the same.

()

() onfed fasfocafaan (@) vlag: wwhivee voaeq: |

() ST ST |
@) gid o fomwafa |
() I cfequr =y |

(i) T SRl
(iil) TN g
(iv) = IH amud

Trteiad st & J@ifehd Wl o HERTER Ao 379 e fofia

1x4=4

Select and write the appropriate meanings of the underlined words in the following

sentences

(30 “3eH IHAA e e 1
() S
(i) Taefea
(iil) T |
@) “HeEHIe: qerEEr it |”
(i) ey
(i) wfem
(i) Termmem |
() “PUeTH ARUSHfe: |”
(i) efe:
(i) ufeemfeE:
(i) IafeEm: |
@ “UEiEd:” WgHeE |
() T
(i) s
(i) e
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@ug: T (SECTION D)
AT — 11
PART - II
AT GpauTEauR=d:
W €& |ifeed URed

General Introduction to Sanskrit Literature

) SEfIRgAy e 3 e HiEH: g Tt Jre: Thdd o
Frtaiaa 5 & foret Tk 1 Alerm e uie ol § 9%eha H fafay ;

Write a brief note on any one of the following in five sentences in Sanskrit :

T, TRf:, SHifeied: |
Fgar / OR

FfARgay AeETIeETEEN et g 3: foawa

Frfafaad & we & uq) ! FardT 9 Tk i i 9fd s g9 fofaw

10 A=

1x5=5§

“2x10=35

Fill in the blanks in the following using the words from the box and rewrite the

same.

() TeEET I |

(i) onferumme  fawen erfe
(i) e T WA |

(iv) TeefomFRERI @H: 3 |

(v) TERIE foutgEg stfeaser . 9
(vi) TRcaqsfaueomEs: 3|
(vii) TEHRY TG HTH:  Hd |

(vii) JhTOT 3T Wd= |

(x) _ SfcehemEes 9o = |
(x) TFAE AT forara |
LES Il

IT:, HENTHgIT:, STEATRIehT, e |

Hiferpermantacd, HemeneIy, He:, THHULY, T, TN

TP ATETRTIE T Y 9 foRIvT: §Wpad forgd
TEHd HEThTsT <hi foheel aie feroiwarsti o1 wepa o faftaw :

Write any five characteristics of the Sanskrit Mahakavya.

12
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